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(I nbsp] 1. Unlike other countries, police in UK does not carry
guns. Some think it leaves citizen unprotected, others think it reduce
the overall violence in our society.nbspl] 0 O 0O O O O 3. What
are the causes and solution of the problem of the scarcity of water
resource? U J 0O O O OO Os+0 O O 4. Traffic and housing
problems in major cities could be solved by moving large companies
and factories with their employees to the countryside. To what
extend doyouagreeordisagree?’l D O U OO O OO OO0OOOO
DO00000000000005. Quality of people that we
need in our society can’ t be learned in universities and other
academic institutions. Do you agree or disagree? [ [ U 0O OO OO [
JO00do0bo0ooo0oodoodoboooboode. There
IS an increasing number of juvenile delinguents. Analyze the possible
cause that give rise to this phenomenon, and offer some feasible
recommendation. ([J [I +[ 1 )7. Some people said the government
shouldn’ t put money on art such as music and painting, they
should spend more money on construction of public facilities. Agree
ordisagree? 1 J 0O 0 UOOU0O0O0OOO0OOOOOO

[ 8.individual greed and selfishness has been the basis of the modern
society.Someone think that we must reture to the olds,more
traditional values of respect for the family and the local community
In order to create a better world to live in.To what extent do you
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